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m & TEEM 3| HUE EFOEE & Y B 5l #H x H O35l
(EE kg kg kg |H#£EH MK =i h{E B =i g %1l
1101 X4R EE 140 1, 400 0 1, 400 10. 00 0 0 0 2,376 0 864
EE 40 600 0 600 15.00 0 0 0 1, 296 0 1,080
(D 180 2,000 0 2,000
M3@mEHEAS |itiEE 500 5, 000 0 5, 000 10.00 0 0 0 3, 240 0 1,080
G 503 5,030 0 5, 030
1141 4R #E 9 45 0 45 5.00 0 0 0 2, 808 0 156
ms 4 40 0 40 10. 00 0 0 0 1,620 0 1,404
G 13 85 0 85
1201 B3 RE 70 1, 050 0 1,050 15. 00 0 0 0 1,944 0 1,242
(& 70 1,050 0 1,050
1203 F v Ry [BE 125 1,250 0 1,250 10. 00 0 0 0 648 0 486
®E 181 1,810 0 1,810 10. 00 0 0 0 972 0 162
G 306 3,060 0 3, 060
1207 7% 1) 920 92 92 0
1209 5% B 12 36 0 36 3.00 0 0 0 2,160 0 1,944
S 15 75 0 15 5.00 0 0 0 0 3,024 0
GEH 27 m 0 111
1213125 [=F 1,500 150 0 150 0.10 0 0 0 0 65 0
E1p) 1,500 150 0 150
121 =% G 12 17 0 17
1227 K3 RE 62 25 25 0 0.40 203 0 151 0 0 0
1 500 100 0 100 0.20 0 0 0 92 0 86
ED 562 125 25 100
1245 MIRZE =3 500 200 200 0 0.40 151 0 108 0 0 0
GED 780 256 200 56
1301 #F #wE 40 12 0 12 0.30 0 0 0 0 130 0
#mE 80 40 0 40 0.50 0 0 0 0 173 0
e 28 140 0 140 5.00 0 0 0 2,592 0 648
ED 1,042 711 0 m
1321 &1 2iE 139 695 0 695 5.00 0 0 0 2,052 0 1,620
D 139 695 0 695
1B1E—7> | EE 600 90 0 90 0.15 0 0 0 0 119 0
G 603 99 0 99
1353 v vk (=il 90 9 0 9 0.10 0 0 0 281 0 86
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L kg kg kg |E%ER ER i #il £ B hig gy
GEH 90 9 0 9
1355495 ERS 160 16 0 16 0.10 0 0 0 0 76 0
&) 450 45 0 45
ol A 27 G 24 48 0 48
1501 g3 30 150 0 150 5.00 0 0 0 0 918 0
S 158 790 0 790 5.00 0 Y 0 1,944 0 1,026
&) 188 940 0 940
1541 £8 JeimsE 255 5,100 0 5,100 20. 00 0 0 0 2,376 0 1,944
EE 9 % 0 20 10. 00 0 0 0 0 1,512 0
GhH 264 5,190 0 5,190
1609 Fovy=aY | RE 5 30 0 30 6.00 6 0 0 0 6, 048 0
& 5 30 0 30
1811 LA R ®H 10 50 0 50 5.00 0 0 0 1,350 0 864
&H 20 200 0 200 10. 00 0 0 0 1,512 0 864
& 30 250 0 250
16129 =L 3R | RH 16 80 0 80 5.00 0 0 0 1,620 0 1,566
H 16 80 0 80
1627 2=~ b 6] 36 24 0 24
1705 4% =T 540 43 0 43 0.08 0 0 0 0 45 0
& 690 55 0 55
1715 K% (=} 20 2 0 2 0.10 0 0 0 648 0 378
GhH 20 2 0 2
1803 £#E EE 550 55 0 55 0.10 0 0 0 146 0 113
& 550 55 0 85
1807 {8 X & 250 25 0 25 0.10 0 0 0 0 49 0
£ 2257 630 126 0 126 0.20 0 0 0 70 0 56
&h 880 151 0 151
1809 L& L ¥ 250 25 0 25 0.10 0 0 0 0 56 0
¥ 330 66 0 66 0.20 0 0 0 86 0 12
&EH 580 91 0 91
191595 BE 10 10 0 10 1.00 0 0 0 0 540 0
&) 10 10 0 10
* 53 5EE * 18, 368 40, 086 542 39, 544
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m A& TEEM HOE BB HU5E FExIER S & Y B 5l # x H O35
LEE: kg kg kg |HEEEE B =18 & R =iE hiE %=l
2103 BeEAMA | EiE 192 1,920 0 1,920 10. 00 0 0 0 2,052 0 1, 404
D 192 1,920 0 1,920
2205 382 EE 76 760 0 760 10. 00 0 0 0 3, 996 0 2,376
G 76 760 0 760
2307 2K IN= 61 610 0 610 10. 00 0 0 0 5, 508 0 4,320
&H 61 610 0 610
2821 4 | ATl 3 23 0 23 7.50 0 0 0 0 3,780 0
&) 3 23 0 23
2511 %k =8 9 45 0 45 5.00 0 0 0 3, 888 0 3,348
ED 9 45 0 45
2609 Ei& ¥ 100 35 0 35 0.35 0 0 0 0 529 0
=H 30 150 0 150 5.00 0 0 0 0 7,344 0
D 130 185 0 185
2611 EA—=x  |[Eh 32 13 0 13 0.40 0 0 0 400 0 367
L 22 110 0 110 5.00 0 0 0 0 7, 560 0
&), 54 123 0 123
2616 s<RH | LWL 6 12 0 12 2.00 0 0 0 0 4,320 0
fEj L 11 55 0 55 5.00 0 0 0 9,180 0 7, 560
D 17 67 0 67
2821 ERER EE 40 16 0 16 0.40 0 0 0 0 464 0
EE 180 108 0 108 0. 60 0 0 0 378 0 216
GH 220 124 0 124
* SPEEFT * 1,524 1,713 0 7,713




